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B. Com. (Hons.) 3rd Semester w.e.f.
Academic Session 2015-16 Onwards
(Current Scheme)
Examination — November, 2023

PRINCIPLES OF MARKETING
Paper : BCH-3.05

Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be en tertained after examination,
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Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.
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1. Define the following in brief :

Ryt 1 @@ & arefE B

(@)

(b)

(g)

(h)

92535-

Define buying behaviour .
wiE e B IR S
What is SLR model ?

THEEY Afed 1 E 7
Psychographic segmentation
EEICEIRCACRIEE]

Test marketing

T AT

Product label

IR &

What are channel principles ?
EREREE I )
Define sales quotas.

fesht rer &1 oy #4

What is an ad copy ?

wa Ay

-(P-4)(Q-9)(23) (2)

UNIT =1

e - |

2. What is marketing concepts 7 Is it evolutionary or

revolutionary in nature ? Refer each concept of
marketing management.

RIoRT STaERET 4 ¥ ? a8 T A feaEl ¥ A e 7
Rror s R ST I B

. Define consumer behaviour. Explain Howard Sheth

model and its implications.

SU¥E SRR & AR Y EEd e ded AR 36
fafeargt @1 e B

UNIT =1l
=g — 1l

. Explain the different bases of segmentation. What

factors make the segmentation a thundering success ?

e 3 R o @ e Y BN 8BRS e
F T B 99 & 7

. What is product life cycle (PLC ) ? What are its major

implications and merits and limits ?

I o =% (foed) @ ¥ 7 zae sge R, I
A dm @ ¥ 7

92535- -(P-4)(Q-9)(23) (3) P.T.O.




UNIT -1l

g — I

6. What is a channel of distribution ? What factors govern

the selection of channel member ?

R 7 M9 1§ 7 O 9ed & T & &N 8 S
Frifyd & & 7

7. What are different methods of pricing policy ? Explain ‘.
them with suitable examples.

we Frafor iy & R als @1 € 7 3% 9w e
SIESECEIER]

UNIT -1V

TR — IV

8. What do you mean by personal selling ? What are
essentials of successful personal selling ?

agfehd faohd | 9 F THEd & ¢ 9%d afhd S @
foTa ofraeg® o 41 § 7

9. Explain the term advertising. Outline clearly the . ’

difference between advertising and sales promotion.

fee 9= & e it foss ok Reh dadw @ 49
SN B W ®T F J@ifhd B

92535- -(P-4)(Q-9)(23) (4)
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BASICS OF INFORMATION TECHNOLOGY
Paper : BCH-3.06

Time : Three Hours | [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

godf @ GUT 7 @ yEd qOarE] 98 ghRad #7 o [ g7 g7 @
ad goT-u farar &1 yder & 3T 39 g9 7 FIg f [omga 78

gl

. Note: Attempt five questions m all, selecting omne
question from each Unit. Question No. 1 is
compulsory. All questions carry equal marks.

To% T § 0F U g0 g, &9 9 U @ 9
flﬁﬂl%qﬁ g 1 e B ol gyt § o
a9 Bl
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s UNIT -1l

1. Write short notes on following :
Ryefaad o | fewel fafad - »
§ 'l;ihe_g‘ory 4. Explain the following : 8+8=16

frr=ifoRaa & g9=msT
(ii) Communication Satellites
(i) Smart Card

U I
(i) Public Network ® P e Fe
GIERIREINEEE] @ e (i) EDI
(iv) Tally ) EE
ksl
. 5. Define Data Transmission. Explain modes of Data
UNIT -1 Transmission in detail. 16
- 3o pfme @ o B0 pEme & ot @
. o & F9EEw
2. (i) Define Information. Explain its types in detail. 8
UNIT -1l
G @ wReE w0 R ol @ RER R 0
SEE R
6. Describe the following : ' 8+8=16
(ii) Describe applications  of Electronic  Data o ot -
Processing in detail. 8 y ( '
wEFE 2o AR B oA & fwR & £ & (@ Network Topology
Fif Fegeh gt
3. Define operating system. Explain its types and (i) Internet
functions in detail. 16 e
AR Reed & oRafa w0 6w Td &A@
foea & H9eEal

92536- -(P-4)(Q-9)23)  (2) 92536- -(P-4)(Q-9)(23) (3) b.T.0.




7. Define  Information  Technology. — Explain  its
applications. Also describe the impact of IT on

Business Environment. 16

g MeFE B R BT APET s
g aEEee G ga GEliE & 9Wd H O avi
A

UNIT - IV

TR — IV

8. Define Tally and explain the following : 8+8=16
oot @ o Y oiR et @t e st

(i) Salary statement
I fereeT
(ii) Generating and Printing Reports

RO TR H31 AR BT

9. Give a complete description about MS-PowerPoint. 16

THUE-TETEEE & 91 8 g foerer &

92536-  -(P-4)Q-9)(23)  (4)
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CORPORATE ACCOUNTING-I
Paper : BCHN-3.02

Time : Three hours | [ Maximum Marks : 80

Before anstwering the questions, candidates should ensure that they
haoe been supplied the correct and complete question paper. No
complaint in this reqard, will be entertained after examination.

o7l T 47 @ gead giar 98 glhakad &v & & g7 g
g7 @& geT-yq [Hr &1 vier & Gy 39 gy 7 #Hg i

«/otc’ : Attempt five questions in all, selecting one question

from cach Unit. Question 1 is compulsory. All
question carry equal marks.

A% IHE W 0F N H W FW BY, I g WA
P T G 1 FRFF B afl wet 3 sig gum
2|
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1.

the following

Write a note 0t (f) What is cost control ? How is it calculated ?

e - S 1 o 8 7
Ay @ Rl T et ¥ 7 gEdl R A8 O E 7
1l vou deal with loss on issue of
(a) How will 'y (8) What are the purposes served by Schedule III of
5 05 7 ‘
debenture the Companies Act, 2013 ?
sy FOE o AW W OB ad I ¥

w7 ® FUA S, 2013 # oSEE 11 & ORE T
fog g & 7
(b) What do you mean by right Issue ?

& PR & omue Fr areed ® 7

(h) What is Minority Interest ? How is it calculated ?

U AT 1 & 7 FHS! T BE F A B 7

(c) What is Escrow Account ?

TER G R B 7 UNIT - |
(d) What are the factors considered while calculating s - |
goodwill ?
2. What are the legal requirements for buyback of
e F g B FE W R . ’
RG]
9 & h Fer S shares ? Give the journal entries that are to be passed
' ~ ‘ géj ? to record buyback of shares in the books of company.
(e) "Accounting Standard 1 : . .
e SES are mandaggryr for al | gt F gTeE 3 o F EwEEad ®=E 2 Fwh @
companies". Comment. “ . .
| , gia # ofel @ gEes R w9 3 R oRg @ 9w
T A 3 R s B0 Rt et s e %
B E |

IOy (2) 92538-1500-(P-15)(Q-8)(23)  (3) P.T.O.



YZ Ltd invited applications for issuing 2,00,000
3. XYZ Ltd.

Out of the forfeited shares, 3,500 shares were re-issued
res of Rs 10 each. The amount was payab|e

equity sh as fully paid up @ Rs. 8 per share. The reissued

as follows :

On Application Rs. 3 per share

On Allotment Rs. 5 per share

On 1st & Final Call Rs. 2 per share '\

Applications for 3,00,000 shares were received and pro
rata allotment was made to all applications on

the following basis:

Applications for 2,00,000 shares were allotted 1,50,000
shares on pro rata basis.

Applications for 1,00,000 shares were allotted 50,000

shares on pro rata basis.

Mr. B who was allotted 3,000 shares out of the group
applying for 2,00,000 shares failed to pay tigs
allotment money. His shares were forfeited

immediately after allotment.

Mr. S who had applied for 2,000 shares out of group

applying for 1,00,000 shares failed to pay the first
and final

call. His shareg were also forfeited.
92538-1500-(P-15)(Q-8)(23)

(4)

shares included all the forfeited shares of Mr. B.

You are required to pass the Journal Entries to record

the above transactions.

XYZ fifiee 3 10 59 90 g9 F 2,00,000 THA i
BT F 0 oTee ot R Tl gE o 39 o

T | %o 3 iy X

e W To 5 T I
T g SifoH e W To 2 Wiy SRR

300,000 et % fow oRET ww gU X emEA @
S e fear T, i srem e

200000 ST F U oM B oAHURG MR W
1,50,000 et smeifent fopu

1,00,000 &S % MU SEA 1 AUl SR W 50,000
R aTEfed e

hoBﬁ%z,oo,oooa#eﬁ%mmﬁmm@rwﬁ
& 3,000 o arfed B M A, A e R ST F
ERCLRG]

92538-1500-(P-15)(Q-8)(23) (5) P.T.O.




I

)7E¥q11i§r>and Liabw Assets Amount
| —— T S el

e & g % o o = 7R

fo § RRER 1,00,000 sigh 3 RU oM F Al T |
éz,oooﬁuﬁ%mmmm,%nw'@aﬁm
mwwmﬁmﬁﬂ%m%ﬁmmm
et

st foe T @i i &, 3,500 el B 8 Bo Hi A P oaw
& oof g @ g Feif R

Jt & firo B 3wl o fRY W A # &l siw anfr
)

IR A A N B T e Sa afaftent arg
FHAT B
UNIT -II

s -l

4. The Balance Sheet of M/s ABC Ltd. as on 31st March,
2014 -

Share Capital 12,00,000| Freehold Property | 5,00,000

Reserve and Surplus 2,60,000

\
|
‘l Plant & Machinery | 4,20,000
|

|
10% Debentures | 4,59,?QO~Goodwill 80,000

92538-1500-P-15)(Q B)23) ()

- B
| |

Sundry Creditors 1,20,000|Bank Balance | 1,40,000|
.

Debtors ‘ 4,80,000|

| |

Stock | 4,10,000

’ ]

20,30,000| 120,30,000

Profit after Interest and Tax for the years 2012, 2013
and 2014 were Rs. 2,50,000, Rs. 3,40,000 and Rs.

2,70,000 respectively. Following are the future

informations :

(i) The normal rate of return is 10% on average

capital.
(ii) The rate of tax applicable is 40%.

(iii) 10% Profits for 2013 arise from a transaction of a

non-recurring nature.

(iv) 9% return is to be ascertain on the value of

freehold property. The Current Rental Value is Rs.
54,000.

92538-1500-(P-15)(Q-8)(23) (7)) P.T.O.



) A claim of Rs. 20000 against the company and

adjusted against the profit for the year 2014.

(vi) A provision of Rs. 20,000 on debtors was made in

the year 2014 and now it is to be adjusted in
the profit for the year 2014.
You are required to calculate value of goodwill on the

basis of annuity super profit. The present value of Re. 1

for 3 years at 10% is 2.383.
31 7, 2014 F e ol TR @ il faeer o

m\wﬁr \m&

[
|

i G 12,00,000|hiEleE Ty 5,00,000

T A T 2,60,000| @i Td "G | 4,20,000

10% T 4,50,000| @A 80,000
\

oty e 1,20,000(§% 5 1,40,000

g TR 4,80,000

| o

i | 4,10,000

‘ ‘ \—‘ |

E—— 20,30,000 \_&0,30,000

92538-1500-(P-15)(Q-8)(23) (8)

®

&

92538-1500-(P-15)(Q-8)(23)

g 2012, 2013 3% 2014 & fw & AT & & a7 9
FAM: o 2,50,000, Bo 3,40,000 X Fo 2,70,000

afe < ga R ¥

() o oo W Red @ aEE aw 10% ©
(ii) T BT F A 40% Bl

(iff) 2013 B f@ 10% @ IR-oTEd FHT F AT |
I B B

(iv) Sdree GuRT B T | 9% Red gRREm B S 3
A BT g Fo 54,000 B

(v) T B feE FW 20,000 F @ IE 2014 F AH B
foree TR e

(vi) 2014 ¥ IR W W 20,000 F TGEE - AT
= ¥ 2014 3 fw @ qERIRT fRr S R

O A GO qH B AR W S F T BT
X EEHFA 2 1 5@ F A TA 10% T 3 a9
3 fog 2.383 21

(9) P.T.0.



5. Explain the circu

mstances under which valuation of
shares is essential and discuss the various methods

of valuation by giving merits and demerits of each

method.

= R @ are e ded SO BT
e ¥ &R va% Bl @ T @ A9 B A g A

3 Rfr R @ e & LY
UNIT - 1lI
e - Il

. What is meant by profit prior to incorporation ? How
is this profit treated in the books of accounts of a

company ?

Free & @ @9 & 1 e B 7 39 A H B B @
@ JErH A Y e o ¥ ?
®
- "A Company cannot make payment of dividend out of

current profits without making good past losses."

‘AR I MEY W B W B R adm R @ @
T S

92538-1500-(P-15)(Q-8)(23) (10 )

1.

UNIT -1V
TS ~ IV

. How will you treat the revaluation of fixed assets of

the subsidiary company ? Will profit or loss on

revaluation be treated as capital or revenue ?

FO P AT W A A g A Gl v Ter A
ST ?

On 1st August 2014, Ramdas Ltd. purchased
8,000 shares in Vikram Ltd. @ Rs. 175 per share.
Balance Sheet of Vikram Ltd. at 31 st March, 2015 is as

follows :

Equity and Liabilities :

@ () Shareholders funds

(a) Share Capital :

Fully paid shares of Rs. 100 each. 10,00,000
(b) Reserves & Surplus
92538-1500-(P-15)(Q-8)(23)  ( 11) P.T.O.



(i) Reserveason 01-04-2014 4,00,000 (b) Ramdas Ltd. held 50% of the debentures of Vidhi
Ltd.
(ii) Surplus A/c ~3,00,000
(i) Non-current Liabilities : (c) Sundry Creditors include Rs. 40,000 payable .
Vidhi Ltd.
10% Debentures of Rs. 100 each 2,00,000

You are requested to ascertain the (i) minority interest:

e and (ii) cost of control.

(iii) Current Liabilities :

Creditors 4,00,000
1 & 2014 F, THeE fafies 3 fam fafes & 8,000
Total _23,00,000 W, 175 9T 9@ H W F7 B 31 AW, 2015 H
2 fegpm fafice &1 onfire focer 30 9 & -
2. Assets: A
(i) Non-current Assets : 1. 9T @9 ?«'Tﬁﬁ
Fixed Assets : , (i) Sl @ B
(i) Tangible Assets (Cost Rs. 20,00,000)  16,00,000 (a) SHRITSH
(i) Intangible Assets : Goodwill 1,00,000 ‘t{”f gehell gfe 37 $o 100 10,00,000
(ii) Current Assets 6,00,000 (b) G99 UG MR
Total 23,00,000 (i) 01-04-2014 F &= 4,00,000
Additional Information : (ii) ST @ 3,00,000
(a) The opening bal i
pening balance in the surplus account was ) I g
Rs. 1,60,000 out of which dividend amounting to .
2,00,
Rs. 1,00,000 was paid in September, 2014. 10% T S Fo 100 i

92538-1500P-15)Q-8)(23) (12 92538-1500-(P-15)(Q-8)(23)  ( 13) P10,



o . () fafdw e & Ry RifRe 23 3 5@ 40,000 s
(iii) =L

g
IR 4,00,000 T HAEE & F (i) Frem @ A () Frdse @
0 _ 23,00,000 I e
2. gRE
() I =g Tk

g

(i) T gl (@ So 20,00,000) 16,00,000

(ii) o wfE ;e 1,00,000
(i) =Ty F 6,00,000
Bl 23,00,000

HRE T

() Y @@ #§ s 99 T Bo 1,60,000 B ¥
foda, 2014 & Fo 100000 & areier A Re » @
&

(b) T Rt & v R fifRe 3 50% o &

92538-1500-(P-15)(Q-8)(23) (14 )

92538-1500-(P-15)(Q-8)(23)  ( 15)
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Time : Three Hours ] [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

g5l & G a7 @ yed gdarl 48 ghad &7 o & 37w g7 @
el JoF T [er &1 gher % Iy $9 g 4w A Fregd 78
g

Note : Attempt five questions in all, selecting one question
é from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

gl 3PS §F U FAd 8Y, A gg U B IN
w uT dem 1 e B owf uel B oiE

& I 2
1. Briefly answer the following : 2%8=16
fr=ifarfad & gt Iav A
(a) What is Material Control ?
Yefaw &g 8 7

92539-1550-(P-7)(Q-9)(23) P.T.O.



e e 2 o 2 R

) . 3. Compute E. O. Q. and total inventory cost for the
sfine B ard. pu y
(b) Define Bin Carc following : 15
qﬁ‘qﬁﬂﬂ Eﬁ 31Q:|
R0 A Annual Demand : 10,000 units
(¢) Define Abnormal Effectiveness. Unit Price .10
Mg FEd F g BT Order Cost : %20 per order
(d) What is Inter Process Profit ? ® @ StorageRate : 4%p.a.
37 Interest Rate : 10% p. a.
;ﬂ'a'g ;mfﬁe I !
ot Q . Obsolescence Rate  : 5% p. a.
: is Purchase Cycle ? )
(e) Whatis Pur y 0 fr=fafaa & fae faderd smewr a0 (E. O. Q) &1 &
? ‘
9% 1 8 7 ‘ T AT O Y
(f) Differentiate between  Apportionment and gffes. g7 : 10,000 HE
Absorption of Overhead. s S . 1089
SR 3 e TF STaeieeT § A=Y qansul | R W@ ;20 Fo FRY MEX
(g) Explain Escalation Clause'. ISR & A gfaea gfa ad
‘g T F qHHIRU EIEICES © 10 sfaga affs
e W 5 i 9
(h) 'Statement of cost'. Explain. ® ‘
P
3 UNIT -1l
SRECIC M L e e e I
UNIT - | . . "
g @) 4. What are the main incentive wage payment methods ?
e — | Explain any three in brief. 16
2. What is C _ . o IO Ay A sfadl B8 ¥ 2 g QA Rl
. ost Accounting ? Explain objectives and # H§39 ¥ gEEE
benefits of Cost Accounting, 16

T T TR ? gm Red 7 wow F) A
92539- PNQ9Es  (2) 92539-1550-(P-7)(Q-9)(23) (3) P.T.O.



5. What is meant by under/over absorption of
. a 1 d )

overheads ? How will you account for them in your
ads 7

TH FREM A X T Y g a6 @ 100 IR A g
ST AT 36 Jeh &t

. 16
books ? Explain. Xz v 7
aef ¥ 7 M9 oy —
St @ 9/ dE T B Jee 28,000 | 20,000
F 7 wEAR —_—
geH A 4 ) @ T Heg ! 16,000 | 10,000
UNIT - 1II TE =y 3,000 | 2,000
= — I ® @ IRE T8 R ¥ : () sREF 13,000 2, (i) FEE
7,360 X A B W 25% T A B, A GO awg F
6. A Factory produced 100 units of each of commodities fasp o = arm ?

X and Y. The Cost of Production was : 7. State the reasons for disagreement between the costing

and financial ~results. Prepare an imaginary

X7 Y% : Reconciliation Statement. . 16
Direct Material | 28,000 | 20,000 O AEiH T A dEiET B aRem $ owR B BN
F T B T TF HGH GHEN HEOLTE FR B
Direct Wages 16,000 | 10,000 ® UNIT =1V
J
@ - IV
Direct Expenses | 3,000 2,000 )
8. A contractor made the following payments on account
43 of a contract during the year 2020-21 :
Overhead expenses are (i) Factory ¥ 13,000, (ii) Office £
P () Factory (i) ® ' ()  Material : 800,000
7,360. If-profit of 25% on sales is to be realised, then
ii Plant :%4,00,000
what would be the selling price of each article ? 16 () -
(iii) Wages : ¥8,00,000
(iv)  Overhead : ¥1,50,000

92539- -(P- -
P7NQ9@3)  (4) 92539  -(P-7)Q-9)23)  (5) P.T.O.




At the end of the year, the liabilities of the contractor
were ¥ 30,000 on.account of overhead, ¥ 50,000 on
account of material and ¥ 15,000 on account of wages.
Unused material valued at ¥ 50,000. In the mic.l year, a
plant of ¥ 15,000 (cost) was lost due do fire. The
contractor received T 14,500 from insurance company
against the claim of ¥ 15,000. Work certified (65% of
contract) was ¥ 18,00,000 and uncertified work value
at ¥ 20,000. Depreciation on plant is 12.5% p. a.

Prepare Contract Account. 16

o 332w ¥ af 202021 F @ 3% F A& H M g

@ & 7 8,00,000
@) e %4,00,000
(i) e %8,00,000
(iv) SuR= %1,50,000

af & o § 3%} W AR 2 B W@ F 30,000 Bo,

aE & e § 50,000 %o W HWEd B W@ F 15,000 o
qoogE W H g 50,000 Fo eam qd P
e & T F F 15,000 Bo H Wie T & TN 33\R

# A F /15,000 Fo FH TR W HE 14,500 %o ®

SIS gU T i (3% #7165 fem) TR 18,00,000 Fo
T ST FE TR 20,000 Fo df wWE | B 125
o of & 31 239 @ sy

92539-1550-(P-7)(Q-9)(23) (6)

i

@

92539-

9. What is Joint Products ? Enumerate the methods

which may be used in joint product in cost

determination. 16

T I A Y ? S yghe A FEe A HgE I A
T frafzer & s @ S

-(P-7)(Q-9)(23) (7)
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